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Rice University

MECH 401 – Mechanical Design Applications

Homework #6

Screw Threads

Due: Thursday, March 15, 2007 (at Class Time)
Start problems (#3 to #7) on a new page. Drawings should be neat-use a straightedge! Box your answers. Neatness counts on homework. Late homework is not accepted.

All problems are in SBN 8th ed.: 

1.  [10 points]
Problem 8-1 

2.  [10 points]
Problem 8-2

3.  [10 points]
Problem 8-3

4.  [10 points]
Problem 8-4

5.  [20 points]
Problem 8-7 a, b (not c or d) On a use a force at the center of the ball at the end of the handle. As part c calculate the mechanical advantage of the clamp from a and b.  
6.  [20 points]
Problem 8-15: Note that
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. Where
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is the advance of the nut.
7.  [20 points]
Problem 8-16: Don’t find the relationship between torque-wrench setting T and turn-of-nut Nt .
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